
A4

1/1Rev. Changes Date Name

R

T
H

IS
 D

R
A

W
IN

G
 M

A
Y

 N
O

T
 B

E
 C

O
P

IE
D

 O
R

 R
E

P
R

O
D

U
C

E
D

IN
 A

N
Y

 W
A

Y
, A

N
D

 M
A

Y
 N

O
T

 B
E

 P
A

S
S

E
D

 O
N

 T
O

 A
 T

H
IR

D
P

A
R

T
Y

 W
IT

H
O

U
T

 W
R

IT
T

E
N

 P
E

R
M

IS
S

IO
N

.
O

W
N

E
R

S
H

IP
 A

N
D

 C
O

P
Y

R
IG

H
T

 O
F

 C
O

N
E

C
 C

O
R

P
O

R
A

T
IO

N

D
O

T
 N

O
T

 A
L

T
E

R
 C

A
D

 D
R

A
W

IN
G

 B
Y

 H
A

N
D

2011

Draw.

Appd.

Norm

D-old DIN

Scale:

Part No.:

Material:

Title:

Drawing No.:

Sheet

Autodesk
Inventor

Dim. in

Approval DateName Title

Customer:

a

b

c

original

1 x b

1 x c

Jan/09/2012

Feb/19/2013

Vincent Ke

Vincent Ke

Date

Jul. 12

Jul. 12 J. Chaudry

Vincent Ke

Name

mm

Stainless Steel and NBR

M3 Screw Mounting Set
4 x (gasket washers + screws + nuts)
 and 4 x ( flat washers + spring lock washer)

17K1A284

17-103530

Tolerance
Unless otherwise specified

0   PLC     `0.30

1   PLC     `0.20

2   PLC     `0.10

3   PLC     `0.05

ANGLES    `1~

Directive 2002/95/EC RoHS Compliant

M3 Flat Washer 

(3.2 ID x 7 OD x 0.5 Thick)

Material: Stainless Steel 

M3 Nut 

(0.5 Pitch x 5.5 A/F x 2.4 Thick)

Material: Stainless Steel

b

M3 Spring Lock Washer 

(3.1 ID x 6.2 OD x 0.9 Thick)
Material: Stainless Steel

Gasket Washer 

(2.5 ID x 5.5 OD x 1.0 Thick)
Material: NBR, Shore A85-A95

Color: Black

M3 Screw

(0.5 Pitch x 12mm shank Length)

Material: Stainless Steel

c

Philips Pan Head


